KEAB04BepER (X)BEABEHRE

EARAE RS A LBIESA ¥1/18
HAKEE ATREFACHERARR: FTIRGERFR: FTREATER

— ~ (B0%):EHFM  HEME A REREEALELSEAN -
1. 4% —RGHEFH 2yy’ = ¥V, y(4) = -2, o F R/ A THHEA (A) Partial differential
equation (B) 2nd order (C)Linear (D)Separable (E) None of above

2. oA A, y(4) = -2 Z 444 A (A) Initial condition (B) Initial value problem (C)Boundary
condition (D)Explicit solution (E)Ordinary differential equation

3.hRAYy + i}' = %J"B/ * 2 244 (A)2nd order (B)Bernoulli (C)Linear (D)Homogeneous
(E)None of above

4. 5By -4y + 5y =2e" 2z £48 4 (A)1st order (B)Bernoulli (C)Linear (D)Homogeneous
(E)None of above

5 78X XY +3xy -9y =02 44 (A)Euler (B)Legendre (C)Laplace (D)Bessel (E)None of
above

6. K Xy +xy + (@ -

9)y =0 x & ##% (A)Euler (B)Legendre (C)Laplace (D)Bessel (E)None
of above

., 9%y d%y
7. 78K == 9-ax—2+ cos(mx);
(D)Wave (E)None of above

. u o Pu
8B 5, =97
(E)None of above

0<x<4t>0z45#%24 (A)Heat (B)Steady state (C)Laplace
0<x<10,t > 0z 42 (A)Heat (B)Steady state (C)Laplace (D)Wave

9. 5K g—x’z‘ + Z—y’f =02 %#2% (A)Heat (B)Wave (C)Laplace (D)Steady state (E)None of above
10. The Laplace transform of f(t) = sin(2t) is (A)55 (B) Z (C) 7= (D) 2 (E) -2

s2+4

1. The Laplace transform of f(t) = 5e~5¢ is (A} (B) 3 (C) — (D) = (E) =

12. Forn # m, [* cos("=)cos (") dx =7 (A)0 (B) (C)L (D)x (E)L/2

13. [, cos)sin(Z=) dx = 7 (A)x B)r (C)L (D) 0 (E)L/2

14. T & $f(x) 4 Fourier series® 2 x% 44 (A) 0 <x < L(B)-m<x< 0 C)-L<x<L
(D) —w<x<ow (E)xeR

15. &#f(x) =cos(3x) + 3 R A -m<x<T B (A)Odd (B)Even (C)Both even and odd
(D)Singular(E)None of above
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= (20%) Solvey' + 2 = 3x~%e* 4 x; y(1) =4

= (0%) Solve " — 4y’ + 5y = 26 + 36, y(0) = 0, y'(0) =1



